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j\?n the figure, /ll/m. Find the measure of
Jjeach angle. Each problem is different. /‘
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V) 1f me7 =100, then m23= 5 } If m3=140°, then m8 =
2,) 1f m.7=175°, then m26= G) 1 mzi=30°, then ma=

If m£7 =120°, then ms5= "75 If mz4 =407, then m£2 =
Y} 1f mza =200, then ms7 = 3} If m£7 =125°, then m24=
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Use the picture above to identify the special name for the angle pairs.

l ) - £2and £6 ") £2 and £1
2‘; Z1 and £9 g) £10 and £14
Bg £9 and £6 Q) Z11 and £6
ljg £9 and £13 fe) <15 and 211
54 «l4and 16 ") <44 and £13
¢\ £10and <16 ,2) £3 and £11
3
&
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] 2. Find the value of x.
,, Find the value of x.

/

(14r - 13) *
(8e+ 5y
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1. Gsven. Vim : Loty -
Prove: mz1 =ms8 \(
m 3
{ 7\
Statements Reasons
Criven
Z. 1L £ 4Y4
Corresponding angles
Z 1 = <8
Def of Cang FuenCe
2. Given: I//m ! N2
Prove: mz1 + me7 = 1807 . 3&6
i 7\ >
Statements Reasons
V' m
Corresponding angles
ML = Mm<L5
M<LS 4+ m< = | 8°
Subst tobian ?(Q?ﬁf’ﬁi




3. Given: ll/m

Prove: £1 and 46 are supplementary.

Statements

Reasons

Q. Given: i/m
Prove: £ & = £

k4

Statements

Reasons

\ I/ m

Verfical angles

2.3 £ L7

Transi live properly .




é) Given Limand ¢1 = 43

Prove: r il p

2-Column Proak:

{ s1= 22 H £2= 23 M riip H Lim H Given J

{ Converse of Alternate Exterior Angles Theorem }{ L1 =43 }( Given }

[ Corresponding Angles Postulate } { Transitive Property of Congruence }




